N
i
©
M
H
i
2
z
ne
s
ton
!
oY
HU
0
2
o
3]

S =
SR el
LS

el

o o Al

=H o

A

SN FH-SA(EN) - MBAY - BES

Off &t 24

dEE
Off & 24

m

Al

174,463,891
91,422,747
554,615
16,535,461
65,951,068

162,469,712

21,994,179

-
o
I
-
0l
>

0
0
f0
=
x
2]
02

H

H

Al

126,684,066
70,835,481
554,615
12,775,662
42,518,308

112,003,692

14,680,374

H

o
k-
Jn
HT
01
>
o

H

= N

100,025,334
67,232,688
439,038
6,252,479
26,101,129

85,984,974

14,040, 360

-
]
Qe
]
=
Ll

= HnH

89,420, 151
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89,420, 151
62,594,106
5,365,208
21,460,837

77,577,043

11,843,108

89,420, 151,000& 14!

= M W

89,420, 151

89,420, 151
62,594,106
5,365,208
21,460,837

77,577,043

11,843,108

= M

52,800

10,560
42,240

72,480

A 19,680

= M

52,800

10,560
42,240

72,480
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g 52,800,000& » 14|

N

Al

52,800
52,800

10,560
42,240

72,480

A 19,680

100,000

100,000

100,000

100,000

100,000, 000& » 14

100,000
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3,763,071
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307 glz2tol & 9,277,164 5,881,620 3,395,544
= 4,638,582
< 875,511
Al 3,763,071
11T M SXASEEX 9,277,164 5,881,620 3,395,544
OLolgdxelArgd (B & 20&Hl)
8,755,110,000& 14 8,755,110
= 4,377,555
= 875,511
Al 3,502,044
OLolgdXiel At (=302 Mgol)
522,054,000 =14 522,054
= 261,027
Al 261,027
100MAICH HHEA Rl (B3E) 878,076 2,158,310 A 1,280,234
J| 439,038
Al 439,038
307 glz2tol & 878,076 2,158,310 A 1,280,234
J| 439,038
Al 439,038
11T M 2XAS EX 878,076 2,158,310 A 1,280,234
O39d Xtel AtY 878,076,000 » 14! 878,076
J| 439,038
Al 439,038
100MIAICH HEA Xl (FGE) 2,400 2,400 0
< 1,200
Al 1,200
307 glz2+ol & 2,400 2,400 0
< 1,200
Al 1,200
11T MISXASEX 2,400 2,400 0
OFIXNJHH &K 2,400,000 » 14 2,400
< 1,200
Al 1,200
ALIE2 Y 234l 294,743 293,121 1,622
307 21201 A 294,743 293,121 1,622
10 ALSISXAIEEE2IHEX 294,743 293,121 1,622
OAUOEg 29l 294,743,000 x 14! 294,743
oot g e s 3,404,467 2,817,438 587,029
= 1,539,855
J| 115,577
< 203,352
Al 1,545,683
HHOlYE & Loloyg SAt 36,880 36,880 0
201 £B-2dH| 880 880 0
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01 At 22l 880 880 0
O1 get=2Hl 880
DOHHOIY ¥ ooy =4I ZEIH M
55,000 *8IH »23] 880
307 21201 A 36,000 36,000 0
04 QIZFHALAIH B = 36,000 36,000 0
OLQlold o LoIF2t 8 A
31,000,000& » 14 31,000
OHOolE & At 5,000,000& =14 5,000
LossII2M8IAMY XIE 1,112,405 762,500 349,905
= 778,794
< 66,722
Al 266,889
307 2201 A 1,112,405 762,500 349,905
= 778,794
< 66,722
Al 266,889
11T ALS S XAEE = 1,112,405 762,500 349,905
OkosslaMtlAAY K&
1,112,405,000& 14 1,112,405
= 778,794
< 66,722
Al 266,889
CLOSSISMEIAANY BEMIL B2EEX XA (ZHI) 102,600 95,400 7,200
< 30,780
Al 71,820
307 21201 A 102,600 95,400 7,200
= 30,780
Al 71,820
11T AL S XA E X 102,600 95,400 7,200
OkLelsSllEaNtls SAA 82X =&
102,600, 0003 14 102,600
< 30,780
Al 71,820
Lo SESESAMUIA S BX 1,033,051 846,773 186,278
= 723,153
< 61,983
Al 247,915
308 MHXIEHSOIH 1,033,051 846,773 186,278
= 723,153
< 61,983
Al 247,915
1037/ 2S0HUHSEH4EAE ALS I 1,033,051 846,773 186,278
OkLossSsagMtdla &I BX
1,033,051,000& 14 1,033,051
= 723,153
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Al 11,172
307 glz2tol & 27,930 46,154 N 18,224
J| 13,965
< 2,793
Al 11,172
11T M SXASEEX 27,930 46,154 N 18,224
OSHLY, SZTFUMY SSHELHMHA 2
XA (U SAH 2 AL HE)
27,930,000 =14 27,930
J| 13,965
< 2,793
Al 11,172
SENLESSHML SSAHHLEAMUA 2E XA (D] 6,720 3,360 3,360
2 2B X)
J| 3,360
< 672
Al 2,688
307 izl & 6,720 3,360 3,360
J| 3,360
< 672
Al 2,688
11T MISXASEX 6,720 3,360 3,360
OSHLY, SZTFUNY SSHELHMHA 2
XA 22l) 6,720,000 » 14 6,720
J| 3,360
< 672
Al 2,688
ZALE0 XIJAS 802,201 802,201 0
307 glz2tol & 802,201 802,201 0
11T M SRASE EX 802,201 802,201 0
Oofzd=z4ag 510,201
DRESIZAY AT
2,700 50021 x250 337,500
> ZelAt el 24| 172,701,000& 14 172,701
OMAS THItE=Ql AAtHHE 292,000
D2 X 22,000,000& =14 22,000
> AKX K& 2,700 40021 x250 270,000
ZACAY JISEH 32,000 0 32,000
< 16,000
Al 16,000
402 RI2EX=20l A 32,000 0 32,000
< 16,000
Al 16,000
02 LA TEALEZ(0IETHR) 32,000 0 32,000
OZALo XIAAME(A2LFISXME) 32,000
DAL XR 32,000,000 = 1CH 32,000
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Colotd g AREA

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 16,000
Al 16,000
Lol oot & 26,720 24,500 2,220
23 HEXN SHOtE=H X & 10,000 10,000 0
307 QI2t0| M 10,000 10,000 0
04 DIZHSHAFAIRE 2 X 10,000 10,000 0
OZ&d Hzdl storgdsH XA
10,000,000 =14 10,000
ColME e XA 10,000 7,300 2,700
307 QI2t0| ™ 10,000 7,300 2,700
04 QI2tSHALAIE E &= 10,000 7,300 2,700
Ool24l stote sl (&1, s, HOE=,
mn3azs=) 10,000, 0003 *14] 10,000
de=sX 2= 6,720 7,200 N 480
202 04| 6,720 7,200 N 480
01 2LHOHI 6,720 7,200 N 480
Odzsi gfF=&A 560,000& *12& 6,720
SO IIAIE 29X 5,026,281 6,170,225 AN 1,143,944
= 237,872
= 1,053,905
Al 3,734,504
thste=olg |F=AX3S XA 94,100 110,800 N 16,700
307 QI2t0| ™ 87,600 64,800 22,800
02 DI2HE AAIEE X 15,000 15,000 0
OLQXNEA & 100,000& *50¢2! 5,000
OLQXNE=X Skt AFE 10,000,000 * 14! 10,000
B oIAHHYBPIESIHIEX 72,600 49,800 22,800
Otetols AF=AIXSE &9HI
72,600,000 *14] 72,600
402 212t X201 A 6,500 32,500 N 26,000
01 QIZtXI 2 A E X (XM TH) 6,500 32,500 A 26,000
otz A=AIKXNSG JlsE22 6,500
> Ol o124 2,000,000& x 14! 2,000
DS LA 3,000,000 * 14 3,000
>PC, ZHA 1,500,000& * 14 1,500
st 0l3 |FAIXNE JsEY 60,000 40,000 20,000
401 Al HI YL 2 0HHI 60,000 0 60,000
01 A& HI 60,000 0 60,000
OUet=olg FFAKXNS F=TXE EX2A
60,000, 0003 *14] 60,000
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J2Y =gz K& 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DI2ZHHALALSE E X 8,000 8,000 0
OZ2Y +=3lZz8 LgHUH3
8,000,000& =14 8,000
d2Y =3 Z208 22X XN (=) 137,880 122,400 15,480
< 32,976
Al 104,904
307 21201 A 137,880 122,400 15,480
< 32,976
Al 104,904
03 QIZtHHHE2HHEX 83,880 74,400 9,480
Od2Y =3Z=208 22X XA
83,880,000& » 14! 83,880
< 16,776
Al 67,104
11 ALSI S XAEE = 54,000 48,000 6,000
OLotisey T2 02| (ZAH])
54,000,000& =14 54,000
< 16,200
Al 37,800
d2Y LoAAR2ES T2 2IHI(EX) 198,900 0 198,900
< 39,780
Al 159,120
307 21201 A 198,900 0 198,900
= 39,780
Al 159,120
11T A S XA E X 198,900 0 198,900
OZ2Y LelA2d2s 28 29|
198,900, 000& 14 198,900
< 39,780
Al 159,120
F2Y JIsEY A 330,000 300,000 30,000
401 AIEHI L 2 CHYI 300,000 300,000 0
01 A& HI 300,000 300,000 0
OZ=22Y HEX (2500 8HS)
300,000,000 =14l 300,000
402 RIZ2EXt20l ™ 30,000 0 30,000
01 212t 2 AL E = (REM ) 30,000 0 30,000
OoZzg d&I XA 30,000,000& =14 30,000
2 JIsEY MY (EX) 902,000 570,000 332,000
< 546,000
Al 356,000
401 AIEHI L 20HEI 412,000 412,000 0




2M: JZF0He
Ha: Lo=X B3 2 DAL 29
Sl OIOIIAIE 2R CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 301,000
Al 111,000
01 A& HI 412,000 412,000 0
ORFA PAS DRSOHE F2Y K 0
bl 120,000, 000& 14! 120,000
< 120,000
O34 SFMESA 22,000,000 141 22,000
< 11,000
Al 11,000
OJE3XN0IIME B2 MHHI3A
20,000,000& =14 20,000
< 10,000
Al 10,000
O3 J|S4XN0IIHE Z2Y2 2Ma JIsE
B 40,000,000& * 14 40,000
< 20,000
Al 20,000
O2H F2Y JSBAAL
140,000, 0003 14 140,000
< 70,000
Al 70,000
OHHs SEAAMIUOIIIE Z2Y Y
70,000,000& =14 70,000
< 70,000
402 RI2EX20| N 490,000 158,000 332,000
< 245,000
Al 245,000
02 QI 2 A EZ (O TH ) 490,000 158,000 332,000
ORZAl 235 2y 224
80,000,000& =14 80,000
< 40,000
Al 40,000
OZd2Y JII&EMS3 E= 300,000,000 =14 300,000
< 150,000
Al 150,000
OE=23 2249 JIs2& 110,000,000& 14! 110,000
< 55,000
Al 55,000
A2Y YT NA(SXE) 155,888 0 155,888
2 38,972
< 35,075
Al 81,841
201 L2l 12,376 0 12,376
= 3,094
< 2,785
Al 6,497
01 At 22/l 12,376 0 12,376
O1 gt==&Hl 12,376
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R SOHIIAIE 29X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
C2g 3rg=Ad 25t
12,376,000 = 1Al 12,376
= 3,094
= 2,785
Al 6,497
301 LBt A= 143,512 0 143,512
= 35,878
== 32,290
Al 75,344
01 Al E & A 462 143,512 0 143,512
Odz4d 38221 143,512,000 1A 143,512
= 35,878
= 32,290
Al 75,344
g 29 & 102,817 101,853 964
201 et | 12,672 12,408 264
01 AP 2t 2] H| 12,672 12,408 264
OHZE LAz 2,200 *480 &~ x12& 12,672
307 212t0| & 90, 145 89,445 700
11 A EXAIEEX 90, 145 89,445 700
OoZzd 23 & 23|
36,000, 000& = 14! 36,000
OZ2Y ot™ el (3R 2 MI|IoHE A A
s) 37,395,000& = 14! 37,395
Okolgeady Jt3RI| A Y 8,000,000& =14l 8,000
OdzY st=2 B2 8,750,000 =14l 8,750
A2 A22e0 X3 96,000 96,000 0
201 et 20,000 20,000 0
02 B232ZH4| 20,000 20,000 0
O3 A& &H| S XYl 20,000
DAY A2 22I| KX ELH|
20,000,000& = 14! 20,000
405 XHA&HF S HI 76,000 76,000 0
01 AL 2 FF S| 76,000 76,000 0
O3z Hdz2e 1,900,000 4004 2~ 76,000
A2 & HEH| A& 707,200 0 707,200
= 176,800
& 159,120
Al 371,280
307 2iz2to| A 707,200 0 707,200
= 176,800
& 159,120
Al 371,280
11T AISIEXAIEEX 707,200 0 707,200
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OZ3dzg gl XA 707,200,000 » 14! 707,200
= 176,800
< 159,120
Al 371,280
Z22% ¢ty XA 88,400 0 88,400
= 22,100
< 19,890
Al 46,410
307 21201 A 88,400 0 88,400
= 22,100
< 19,890
Al 46,410
11T M SRASEX 88,400 0 88,400
OZzg d&d X& 88,400,000& » 14! 88,400
= 22,100
< 19,890
Al 46,410
d2Y 294 NJA(BX) 1,082,820 1,667,106 A 584,286
< 216,564
Al 866,256
307 gl2tol & 1,082,820 1,667,106 A 584,286
< 216,564
Al 866,256
10 AL SXNAIEEE2EH EX 1,082,820 1,667,106 A 584,286
OZ2% 29l 1,082,820,000& 14 1,082,820
< 216,564
Al 866,256
Coltist (wal) 29l 32,000 32,000 0
307 glz2tol & 32,000 32,000 0
10 ALSISXAIEEE 22X 32,000 32,000 0
OkLoltie(na) 24|
2,000,000& »23] *8H A 32,000
Lol=Ra 249l 1,015,276 925,914 89,362
307 glz2tol & 1,015,276 925,214 90,062
10 ALl SXAIEEE 2 H EX 1,015,276 925,214 90,062
okel=sxa 2494l 1,015,276,000& 1Al 1,015,276
LOoRsEs NE ALY 15,000 15,000 0
< 4,500
Al 10,500
307 glz2+ol & 15,000 15,000 0
< 4,500
Al 10,500
11T MISRASEX 15,000 15,000 0
Okl 233 XNEAY 15,000, 000& 14 15,000
< 4,500
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| | A 0,500
LO=XAE X& 18,015,754 16,052,577 1,963,177
= 1,825,066
< 5,265,926
Al 10,924,762
COIMEAIE 2l 142,520 148,248 AD,728
< 71,260
Al 71,260
307 gl2tol & 142,520 148,248 25,728
< 71,260
Al 71,260
10 AL SXNAIEEE2EH EX 142,520 148,248 AD,728
OLQMEAL 2SI 142,520, 000& 14! 142,520
< 71,260
Al 71,260
MOt =2XAIE 22l 560,700 560,700 0
307 glz2tol & 560,700 560,700 0
10 ALSISXAIEEE2EH EX 560,700 560,700 0
OMIt- I =XAIE 2248l 560,700,000 1 560,700
ALY NA SHUES(AMESH) 9,363,698 8,288,588 1,075,110
< 4,681,849
Al 4,681,849
308 XXIEHHSOIA 9,363,698 8,288,588 1,075,110
< 4,681,849
Al 4,681,849
10 SII 2 SOICHEHE & & 2 & A I 9,363,698 8,288,588 1,075,110
OFIQL+ZX XN SHUES(MESA)
9,363,698, 000& *1 9,363,698
= 4,681,849
Al 4,681,849
ALY NA SHUES(MIIHSH) 4,071,690 3,309,178 762,512
308 XXM SOIA 4,071,690 3,309,178 762,512
10 I 2 SO0CHetE & X 2 E AL HI 4,071,690 3,309,178 762,512
OFIQL+ZA XN SHUES(MHIH=SA)
4,071,690,000& 1 4,071,690
LZAE 29H X2 631,146 638,267 AT 121
= 441,802
< 37,869
Al 151,475
307 glz2+ol & 631,146 638,267 AT, 121
= 441,802
< 37,869
Al 151,475
10 ALSISXAIEEE2GHEX 631,146 638,267 AT, 121
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OLZAIE 224l X 631,146,000 » 14! 631,146
= 441,802
< 37,869
Al 151,475
ASISTAIE SAR S+ (LAd=TAL) 1,510,200 1,200,960 309,240
= 302,040
Al 1,208,160
301 et a = 1,510,200 1,200,960 309,240
< 302,040
Al 1,208,160
12JIEBE43 1,510,200 1,200,960 309,240
OMEBISXANESAL S 1,510,200
DLoEXAA 1,510,200, 000& 14! 1,510,200
< 302,040
Al 1,208,160
MH =N 1,729,080 1,609, 080 120,000
= 1,383,264
< 172,908
Al 172,908
307 glz2+0ol & 1,729,080 1,609, 080 120,000
= 1,383,264
< 172,908
Al 172,908
11T MISXASEX 1,729,080 1,609, 080 120,000
OBZAIE HHSN 1,729,080
D> = QIAlE 1,177,880,000& 14 1,177,880
= 942,304
< 117,788
Al 117,788
D> & 0H QI AIE 551,200,000& x 14! 551,200
= 440,960
< 55,120
Al 55,120
FZANE HRFA 6,720 5,760 960
202 044l 6,720 5,760 960
01 SLHOIYI 6,720 5,760 960
OZZAE gRF2 560,000& »12& 6,720
ZAAIE 22 185,510 953,978 AT768,468
SFEANE 29 177,010 108, 122 68,888
201 Let24d] 143,970 75,802 68, 168
01 At 22l 34,600 5,900 28,700
O1 gt==2Hl 34,600
DSEAE 2L =S4 2,000,000& 14 2,000
DEEAL UIISE 8 +22
300,000 x721 63 12,600
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= _ — d =
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Doty 0l Y 20,000,000& =14 20,000
02 2324l 109,370 69,902 39,468
O1 3322 ¥ HA 20,000
DEEANLE HI2 20,000,000& =14l 20,000
O2 ¢ =l 82,670
DOJIa 2ad e 9273 x8AI2h«50 722 2,670
DatEAE HZH| 80,000,000& =14 80,000
O3 A& ZHl s Xl 6,700
DtEAE S22 5,000,000& =14 5,000
FEHE 200,000& x13] 200
DAL NEHIIE el EF
1,500, 000& *13| 1,500
202 O4dl 5,040 4,320 720
01 = LH 4 Hi 5,040 4,320 720
OFB=X g2=2 420,000& x12& 5,040
401 AIEHI L 2 CHYI 28,000 28,000 0
01 A& HI 28,000 28,000 0
OO Xt Xl 4,000,000& x771*13] 28,000
SO AFZX 2tel 8,500 7,000 1,500
201 Let24d] 1,000 1,000 0
01 At 22l 1,000 1,000 0
O1 et==2Hl 1,000
DEAD AZX 0= 500,000& *23] 1,000
301 et a3z 7,500 6,000 1,500
01 MEIBEE 263 7,500 6,000 1,500
OfHD AFZ X ZHHI 750,000& 10+ 7,500
==X 2438 10,000 10,000 0
Ot=2l 2 X3 AL 10,000 10,000 0
OtS32 2el 10,000 10,000 0
401 AIEHI L 2 CHYI 10,000 10,000 0
01 A& HI 10,000 10,000 0
ontssl& 2= 10,000, 000& * 14! 10,000
e =X s 45,930,712 33,559,837 12,370,875
= 20,587,266
< 3,759,799
Al 21,583,647
e =5 9,264 9,264 0
= 4,632
< 926
Al 3,706
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MAasSEoel ey &

ZAHHl K&

= N H

9,264
4,632

926
3,706

9,264

= N H

9,264
4,632

926
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syl 2

AbHl X &
9,264,000 14|

= W

9,264

9,264
4,632

926
3,706

9,264

= W

414,655
310,980
20,735
82,940

246,749
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= N

19,740

3,948
16,792

19,740

f

Al

19,740

3,948
15,792

19,740

19,740,000& » 14!

= M

19,740

19,740

3,948
15,792

19,740

gl =H X

= Hn

350,127

280,101
14,005
56,021

175,000

175,127

308 NHXIEMS0IE

= 0 H

350,127

280,101
14,005
56,021

175,000

175,127

350, 127,000& = 14!

= N W

350,127
350,127

280, 101
14,005
56,021

175,000

175,127

ol

Hl XI&

Al

3,000
600
2,400

4,000

A 1,000

307 glztol &

Al

3,000

600
2,400

4,000

1,000




2 A
X H
(=R B

=E

A2 zoholn
ool =X =
ZoHol MEOIY X &

= =

=z

SN FH-SA(EN) - MBAY - BES

=Yr
i

2

01

Z 4l

O
02
2

10
fu
He
e

HZ20 &7 24l XN

3,000,000 =14

= M

3,000

3,000

600
2,400

4,000

= M W

16,285
13,027
652
2,606

16,723

A 438

307 21201 &

= H W

16,285
13,027
652
2,606

16,723

A 438

16,285,000 * 14!

=N H

16,285

16,285
13,027
652
2,606

16,723

A 438

= N H

18,503
12,952
1,110
4,441

18,286

217

307 clztol &

= N H

18,503
12,952
1,110
4,441

18,286

217

1A SXAIE E =
ol

OO0 oM

18,503,000 * 14!

=M W

18,503

18,503
12,952
1,110
4,441

18,286

217

=M WY

7,000
4,900

420
1,680

13,000

A 6,000

= M W

7,000
4,900

420
1,680

13,000

26,000

7,000, 0003 * 14

= M W

7,000
7,000

4,900
420
1,680

13,000

A 6,000

o

169,470

62,188
20,657

169,345

125




2N

ZZZ 0§t

Mo Zojol =X =A
e XNFGAE =X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 86,625
SSEN XS MESHE K& 155,470 153,345 2,125
= 62,188
= 18,657
Al 74,625
307 2iz2to| & 155,470 153,345 2,125
= 62,188
== 18,657
Al 74,625
11T A EXAIEEX 155,470 153,345 2,125
OZE&HMR XNHME XJHE K&
155,470,000 = 14! 155,470
= 62,188
& 18,657
Al 74,625
ZoHQl el2dmol2 ==X& 4,000 6,000 A 2,000
307 2Iz2t0| & 4,000 6,000 A 2,000
01 sd =t 4,000 6,000 A 2,000
OHAROIR ABLBOIZ 2K
2,000,000& =201 4,000
SSHHUXNNNRFAEH T2 0 2 10,000 10,000 0
& 2,000
Al 8,000
307 212t0| & 10,000 10,000 0]
o= 2,000
Al 8,000
11 A EXAIEEX 10,000 10,000 0
OZSHHUXNHMEME T2 29 &
10,000,000& » 1Al 10,000
= 2,000
Al 8,000
ZHofel ol =X 681,342 571,586 109,756
o= 118,611
Al 562,731
ORI EOAAE XNRHH 29 40,000 80,000 A 40,000
= 8,000
Al 32,000
307 212t0| & 40,000 80,000 A 40,000
= 8,000
Al 32,000
11 A EXAIEEX 40,000 80,000 A 40,000
OZOHC HoAIM XJAHH 29
40,000,000 * 104 & 40,000
= 8,000
Al 32,000
OOl ME HOo MR 68,280 15,210 53,070




2N
X ZH -
L= B

el

25‘

Z 0§l

Zojol =X =&
Zojel Bo FX

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 11,450 9,450 2,000
01 At 22l 9,450 9,450 0
O1 get==2Hl 3,080
> & OoHel X=X XA & 1, 100& =2, 8000H 3,080
O3 2d=¢ 6,370
DR 2SXNIME MRS &L
70,000& »721 %133 6,370
02 2324l 2,000 0 2,000
O3 A& & Hl s Xt 2,000
PHHARSEZT IS RN 24|
2,000,000& x14! 2,000
202 4l 10,080 5,760 4,320
01 = LH A HI 10,080 5,760 4,320
OFMHA=EX HRFA 840,000& =128 10,080
401 A& HIZ 201 I 46,750 0 46,750
01 A& HI 46,750 0 46,750
OS2 8558 &1
2,750,000 =17 CH 46,750
ZOHQ E8 2EAEY 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
11T M ZXALSE EX 30,000 30,000 0
OZML SE SEAE 30,000,000& » 14l 30,000
Zoe 24 XA 36,681 21,015 15,666
< 7,336
Al 29,345
307 glz2tol & 36,681 21,015 15,666
< 7,336
Al 29,345
11T MISXASEX 36,681 21,015 15,666
OFe 2x =4 36,681,000 » 14! 36,681
< 7,336
Al 29,345
ZOHO M2 = 37,392 37,392 0
< 7,478
Al 29,914
201 2et24d] 37,392 37,392 0
< 7,478
Al 29,914
01 At 22l 37,392 37,392 0
O1 gt=2Hl 37,392
DML MERSKS 37,392,000 =14l 37,392
< 7,478
Al 29,914




SH: AR D
HE: Fojel BN S

el Mojel Mol FX (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZOHAEE 2 = X3 ALY 20,000 30,000 A 10,000
301 g4 = 20,000 0 20,000
12|24 = 20,000 0 20,000
OZMEER +=clXg 24
20,000,000& =14 20,000
o UASAY 2F 78,314 59,911 18,403
< 15,662
Al 62,652
307 21201 A 78,314 59,911 18,403
< 15,662
Al 62,652
10 M2 SXNANEHES2IHEX 78,314 59,911 18,403
OFHe CIASAY 29 78,314,000& 14! 78,314
< 15,662
Al 62,652
ANZEOQ THEXALME 2H(=Hl) 39,675 30,446 9,229
= 7,935
Al 31,740
307 glz2tol & 39,675 30,446 9,229
< 7,935
Al 31,740
10 AL SXAIEEE2EHEX 39,675 30,446 9,229
OAZIEOM THEHABME 23
39,675,000 » 14! 39,675
= 7,935
Al 31,740
AMZEOHL TEAJLAEH 2 25,000 25,000 0
307 gl2tol & 25,000 25,000 0
10 AL SXAIEEE 2 H EX 25,000 25,000 0
OAlZtEOMe THEHABME 2
25,000,000 =10 2 25,000
o ME=EE 29 80,000 80,000 0
307 21201 A 80,000 80,000 0
11T A SXAEE = 80,000 80,000 0
OFHe HE=22E 2 80,000,000& 14 & 80,000
e 2=E JIsE2 22,000 0 22,000
401 Al HIZ 201 I 22,000 0 22,000
01 A& HI 22,000 0 22,000
OZMY == JsEZ 22,000
PEYRE ¥ AdUHAIE &X
22,000,000 » 14! 22,000
ZOHQ MHRASIA 24 70,000 70,000 0




2N
X ZH -
L= B

el

ZZZ 0§t
Fopel =X s
o BHo =&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 70,000 70,000 0
11T M SRASEEX 70,000 70,000 0
OFHe MEESAA 2 70,000,000 *1IH & 70,000
TS SAA LHENE ALY 40,000 40,000 0
< 20,000
Al 20,000
307 glz2+ol & 40,000 40,000 0
< 20,000
Al 20,000
11T MISRASER 40,000 40,000 0
O=3S9A 2ddws A 40,000,000 141 40,000
< 20,000
Al 20,000
A2 QIZHAIE 248 HEAY 24,000 0 24,000
< 7,200
Al 16,800
402 RI2HXt20l M 24,000 0 24,000
< 7,200
Al 16,800
02 2IZt 2 AL EZ(OI XM TH ) 24,000 0 24,000
OARE QIZIAIE H24d W ALY 24,000
DEAEAAIE &X 24.,000,000& » 14! 24,000
< 7,200
Al 16,800
Agua=e 294 X 50,000 0 50,000
< 25,000
Al 25,000
307 21201 A 50,000 0 50,000
< 25,000
Al 25,000
11T MISRAISEX 50,000 0 50,000
OXgda=e 284l N& 50,000,000& 14! 50,000
< 25,000
Al 25,000
g Met=el 24X XA 20,000 0 20,000
< 20,000
402 RI2EX20| ™ 20,000 0 20,000
< 20,000
02 QI 2 AL EZ (O TH ) 20,000 0 20,000
ONeMeze 2I|&xH X &
20,000,000& =14 20,000
< 20,000
ZOHA=XAIE 14,500,373 14,433,187 67,186
= 5,397,820
< 597,981




2L H
X ZH
o M

el

MY =X
FOA=SXAIE

Z 0§l

=
6&

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 8,504,572
Zoper=X2 24 1,326,826 1,216,588 110,238
307 glz2tol & 1,326,826 1,216,588 110,238
10 AL SXAIEEHE 2 H EX 1,326,826 1,216,588 110,238
OFe=Na 29 1,326,826,000& 14 1,326,826
ZOHAANFAIE 28 K& 7,685,457 7,535,257 150,200
= 5,397,820
< 457,526
Al 1,830,111
307 glz2+0ol & 7,685,457 7,535,257 150,200
= 5,397,820
< 457,526
Al 1,830,111
10 ALSISEXAIEEE2GHEX 7,685,457 7,535,257 150,200
OHMUANF=AIE 28 X&
7,685,457,000& » 14! 7,685,457
= 5,397,820
< 457,526
Al 1,830,111
ZOHCIA=AIE 22| dgod X2 146,160 129,600 16,560
< 29,232
Al 116,928
307 glz2+ol & 146,160 129,600 16,560
< 29,232
Al 116,928
10 ALSISXAIEEE2EHEX 146,160 129,600 16,560
OFMAANF=AIE 22 dgeld X3
146,160, 000& 14 146,160
< 29,232
Al 116,928
ZHAUSSHEIE 29 294,434 268,416 26,018
307 glz2+ol & 294,434 268,416 26,018
10 AL SXAIEEE2EH EX 294,434 268,416 26,018
Ol Ssd&IE 29 294,434
>EEod 42,644,000 =14 42,644
>Oototel s 48,776,000 14 48,776
DOl & o & 60,810,000 =14 60,810
DolsSdE 53,719,000 » 14! 53,719
D2 47,504,000& * 14 47,504
DAL S 40,981,000& =14 40,981
O SSMEINE HMH X 8,316 7,128 1,188
= 1,663
Al 6,653
307 glz2+ol & 8,316 7,128 1,188




2L H
X FH -
o Tt

el

gogel =X
FOA=SXAIE

Z 0§l

=
6&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,663
Al 6,653
10 MM SAANEEHESIHEX 8,316 7,128 1,188
OZHel Z2SMEDJIE (Yo XA
8,316,000 =14l 8,316
& 1,663
Al 6,653
HOHQICHIIESAIE 89 549,871 490, 851 59,020
307 2iz2tol & 549,871 490, 851 59,020
10 M SAANEEHESIGHEX 549,871 490, 851 59,020
OHMR HIEBESANE 84 549,871
DO AASAHIIES A
242,090,000 x 1Al 242,090
PER=EURHIIES A 307,781,000 » 1Al 307,781
HOQF2UAESAIE 2 736,483 686, 122 50,361
307 212t0| & 736,483 686, 122 50,361
10 M SXNAEEHESIGHEX 736,483 686, 122 50,361
OXMNUZTAESAIE 29 X 736,483
D> &EAEOHOIF2E S A 244 563,000& * 14! 244 /563
DRFAZMNAUASESE 2NN AFT2HES A
168,444,000 14! 168,444
DAIREF2HES A 160,047,000 =14l 160,047
PER=URFUAES A 163,429,000 1Al 163,429
HOHIXAHBAIL 2 1,792,542 1,697,777 94,765
307 QI2t0| & 1,792,542 1,697,777 94,765
10 A SAANEEHESIGHEX 1,792,542 1,697,777 94,765
OZHRUXATHEAE 29 1,792,542
DRFAHMNAES A E
300,171,000& = 1Al 300, 171
DEAHE S EAE 291,967,000 « 1Al 291,967
RN PSR IH=TY
314,905,000 = 1Al 314,905
DOJE A S THE Al A 365, 186,000& = 1Al 365, 186
> EAAE| 277,357,000 = 1Al 277,357
DEZOISHMNWLESHAH
242,956,000 « 1Al 242 956
O ATHEANL (H=222) XS 914,735 1,500,000 A B85,265
401 AlEHIZL 2 0HY| 914,735 1,500,000 A 5B85,265
01 Al&H| 914,735 1,500,000 A B85,265
OZOHURATHE AL (HE22) HE
14,735,000 = 1Al 914,735
ZOHC MEOISAJHAEH 29 261,922 249,394 12,528




SN AR EOfOID
Hu: zojel =X =
ot RO Q1= X Al A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 261,922 249,394 12,528
10 AL SXAIEEE 2 H EX 261,922 249,394 12,528
OZOQ MEOISKNIME 2
261,922,000 10 £ 261,922
02 =0SHHH =294 235,827 218,974 16,853
307 21201 A 235,827 218,974 16,853
10 M2 SXNANEHE2IHEX 235,827 218,974 16,853
Ox=0EgdH 29 235,827,000 =100 & 235,827
MBI SEXAE BAMI SRS (ZHASXAIL) 538,200 433,080 105,120
< 107,640
Al 430,560
301 et d s 538,200 433,080 105,120
< 107,640
Al 430,560
12JEEd = 538,200 433,080 105,120
OMBISXIAIE SAX SX =L (ZO0HL S XAl
a) 538,200,000 » 14! 538,200
= 107,640
Al 430,560
MISTHEIASEOIZ) SAL LM 9,600 0 9,600
S 1,920
Al 7,680
301 et d = 9,600 0 9,600
< 1,920
Al 7,680
12JEEd=S 9,600 0 9,600
OMEISXHIEEALOI2) SALR MM
9,600,000 » 14! 9,600
< 1,920
Al 7,680
HZOHQAIE JISELAS 4,031,925 478,650 3,553,275
= 364,012
< 506,713
Al 3,161,200
FOUAAF=AIE JIsEH 823,696 413,650 410,046
= 355,648
< 411,848
Al 56,200
402 2I2H X201 M 823,696 0 823,696
= 355,648
< 411,848
Al 56,200
02 QI 2 A EZ(OI X TH ) 823,696 0 823,696
OFM HF=AE JIsE2S
711,296,000 =14 711,296




fN: ZZF04

HE: Fojel =X S

Ee: HOHAIE JIsELAY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 355,648
& 355,648
OHOMAHFALE EHIMNSLAIS 77,400
> oyl orel & 20,000,000 = 14! 20,000
&< 10,000
Al 10,000
>&EAIS2E 57,400,000 1Al 57,400
= 28,700
Al 28,700
OHOMAAHFTAIE HUOHHE X CH 35,000
DAFI)QAHEHA 35,000,000 x 1Al 35,000
= 17,500
Al 17,500
SF=Al M2 SA 2 HE 3,000,000 0 3,000,000
402 SI2FXHE0| & 3,000,000 0 3,000,000
01 BIZtXIEANYE X (KM IHK) 3,000,000 0 3,000,000
ORFA M= 2 A (2% 2)
3,000,000,000& « 1Al 3,000,000
ZOAXNATHEAE JIsEZ(=HI) 16,729 0 16,729
= 8,364
& 8,365
402 SI2FXHE0| M 16,729 0 16,729
= 8,364
& 8,365
02 CIZIXIE AL EX (0| XM THL) 16,729 0 16,729
OXNMAMNLMMEAE JIsEL
16,729,000 « 1Al 16,729
= 8,364
& 8,365
ZOANATMEAS JIsEZ(ZHI) 30,000 0 30,000
&< 15,000
Al 15,000
402 SI2F X201 & 30,000 0 30,000
== 15,000
Al 15,000
02 SIZEXIEAISE X (0| XM THL) 30,000 0 30,000
OXNHQUZATHEA L 222 JsEBL (I
INEZD) 30,000,000 =1CH 30,000
& 15,000
Al 15,000
ZOHCICH JIsEd 51,500 0 51,500
= 31,500
Al 20,000
402 BI2H X201 M 51,500 0 51,500
= 31,500
Al 20,000




fN: ZZF04

HE: Fojel =X S

SHelr ZHAAE Js2IAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 51,500 0 51,500
ONMENAES ISHA (M)
40,000,000& = 1CH 40,000
< 20,000
Al 20,000
OXN2ZSFAUARYS JlsEB2(UNEXH)
11,500, 0002 = 1CH 11,500
= 11,500
NEZHI NS XNALAEH =IJ1&XH X3 50,000 0 50,000
< 10,000
Al 40,000
307 glz2tol & 40,250 0 40,250
< 8,050
Al 32,200
11T M SRAISE EX 40,250 0 40,250
ONEFOHANLNAME 2
40,250,000& =14 40,250
< 8,050
Al 32,200
401 Al HIZ 201 Y| 1,500 0 1,500
< 300
Al 1,200
01 A& HI 1,500 0 1,500
ONFFHATMYNAME AL JS2SY
1,500, 000& 14 1,500
< 300
Al 1,200
405 XH&HF S HI 8,250 0 8,250
< 1,650
Al 6,600
01 AL ESFH S 8,250 0 8,250
OXNEZHAXNHANALAEH 257
8,250,000& » 14! 8,250
< 1,650
Al 6,600
ZOHQ XFASSXAE JIsES 60,000 0 60,000
< 30,000
Al 30,000
402 QI2H X201 M 60,000 0 60,000
< 30,000
Al 30,000
02 QI 2 A EZ (OIS ) 60,000 0 60,000
OFME S2=¢ JsBL(MHEXHA)
30,000,000 =1CH 30,000
= 15,000
Al 15,000




2N

X ZH
S =

el

ZZZ 0§t
e =X s
ZOHAAIE JISEZAY

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

OLEHMAXNAMENH JIsEL(NHEXH)
30,000,000 = 1CH

= M

30,000

15,000
15,000

ZOHQIOtsS IHEX ALY

= N H

1,138,545
679,805
58,269
400,471

972,184

166,361

ZOHQ FEXNJAMEH XA

167,396

90,000

77,396

307 gl2tol &

167,396

90,000

77,396

167,395, 100& » 14

167,396

167,396

167,396

LSLYTHEMHIA IR X

= N H

966,697
676,688

58,002
232,007

879,120

87,577

= HmnH

966,697
676,688

58,002
232,007

879,120

87,577

JI2SOtetd &2 E AL I
& HFRH™ X
966,697,000 » 14|

= W

966,697

966,697
676,688

58,002
232,007

879,120

87,577

AHLSRE HRH K&

=z W

4,452
3,117

267
1,068

3,064

1,388

=z N H

4,452
3,117

267
1,068

3,064

1,388

I 2 SOICHsHE & XA 2 E AL HI

OANLEXNE HRH K& 4,452,000 14

= MW

4,452

4,452
3,117

267
1,068

3,064

1,388

= W

14,408,440
6,820,721
1,482,344
6,105,375

7,576,321

6,832,119

oy

9,733,401

6,813,381
584,004

7,120,721

2,612,680




2N
X ZH -
L= B

el

3

Z 0§l

gopel =X sa
s

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

2

,336,016

308 MHXIEHHMS0IH

= N W

9,733,401
6,813,381

584,004

,336,016

7,120,721

2,612,680

9,733,401,000& =14

= Hn W

, 733,401

9,733,401
6,813,381

584,004

,336,016

7,120,721

2,612,680

[

on
HE
b
J
>
]
=

= M W

10,485
7,340
629
2,516

8,100

2,385

308 MHXIHHMS0IH

= M W

10,485
7,340
629
2,516

8,100

2,385

OiCHE 2 & A AE AL HI

10,485,000 *14!

= N W

10,485
10,485

7,340
629
2,516

8,100

2,385

=

= M

,488,554

897,711

.590,843

297,500

4,191,054

307 glztol &

H

Al

,488,554

897,711

3,590,843

297,500

4,191,054

11 At2l S XA

OSHESSTNY g2 FIOHXE

4,488,554, 000 * 14

i)
H

H

Al

,488,554

,488,554

897,711

,590,843

297,500

4,191,054

176,000

150,000

26,000

176,000

150,000

26,000

JEXIE 176,000,000 * 141

4

176,000
176,000

150,000

26,000

zZ W

8,959,291
6,271,504

806,335

,881,452

7,852,050

1,107,241

H

7,478,939
5,235,258

673,104

6,358,340

1,120,599




SN AR EOfOID
Hu: zojel =X =
CHol: ROJOI I 2 ALY

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

Al 1,570,577

301 LEtE A= 7,478,939 6,358,340 1,120,599
= 5,235,258
< 673,104
Al 1,570,577

01 A3l EE E 56l 3 7,478,939 6,358,340 1,120,599
OXMeHAZ S0 XI=  7,478,939,000& 14 7,478,939
= 5,235,258
< 673,104
Al 1,570,577

=g 0OIxE) NS 778,560 779,424 A 864
= 544,992
< 70,070
Al 163,498

301 L2 A F 778,560 779,424 A 864
= 544,992
< 70,070
Al 163,498

01 MEIBE X253 778,560 779,424 A 864
OFM==(N=)X=2 778,560,000 » 14! 778,560
= 544,992
< 70,070
Al 163,498

=g (a2 S) NS 701,792 714,286 A12,494
= 491,254
< 63,161
Al 147,377

301 gEtE L= 701,792 714,286 A12,494
= 491,254
< 63,161
Al 147,377

01 MEI2EZE+06l= 701,792 714,286 A12,494

OFM==(xa=s ) X3

701,792,000 » 14! 701,792
= 491,254
< 63,161
Al 147,377

ZOoH ol 2 Ktel At 1,280,064 870,790 409,274
= 669,719
< 114,869
Al 495,476

Ol Rel K& (Lergdxiel) 669,306 446,920 222,386
= 334,653
< 66,931
Al 267,722

101 @14 dl 669,306 446,920 222,386
= 334,653




2N
e =X B8

el

X ZH
S =

ZZZ 0§t

TN L Ttel ALY
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 66,931
Al 267,722
4 D12t Z2 RS2+ 669,306 446,920 222,386
OFO LIl X2 (Lot dRtel)
669,306,000 » 14! 669,306
= 334,653
< 66,931
Al 267,722
Zoierd el NE(sXLRtal) 245,790 168,960 76,830
= 122,895
= 24,579
Al 98,316
307 glz2tol & 245,790 168,960 76,830
= 122,895
< 24,579
Al 98,316
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